
Lösungen zur Station 7 

 

S. 17/1) a)  

 

 

                                                                                 
4

1
1    

4

5
=  

  
 

 

 

 

           

 b)  
 

             
4

3
 

 

 

 

  

 c)    

 

 

 

 

 

 

 

 

 

                      
2

1
3     

8

4
3      

8

28
==   

 

    d)    

 

         2      
3

6
=  

 

 

 

 

  e)      
5

2
   

(2)
   

10

4
=   

 

 

 

   f)       
2

1
 1 

(2)
  

4

2
1    

4

6
==     



S. 17/2)  

 

    

Bruch echter 

Bruch 

Stamm- 

bruch 

Schein- 

bruch 

unechter 

Bruch 

Bruch echter 

Bruch 

Stamm- 

bruch 

Schein- 

bruch 

unechter 

Bruch 

20

1
 

 

X 

 

X 

  

15

7
 

 

X 

   

7

35
 

 

 

  

X 

 

X 5

37
 

    

X 

13

65
 

   

X 

 

X 999

1
 

 

X 

 

X 

  

5

24
 

    

X 17

4
 

 

X 

   

  

 

S. 18/9)   a)   z.B. 

 

 

 

                             6 Kästchen 
∧

=      1 2cm 
2

1
     oder    A = 3 cm ⋅ cm 

2

1
  = 1 2cm 

2

1
 

 

 

        b)   1 2cm 
4

1
 =  2cm 

4

5
  

∧

=   5 Kästchen :      cm 
2

1
     

      

     oder    A = 2,5 cm ⋅ cm 
2

1
  = 1 2cm 

4

1
 

 

     c)      2 2cm 
4

1
 =  2cm 

4

9
  

∧

=   9 Kästchen :     1 cm 
2

1
     

       

      

               1 cm 
2

1
     

 

                   A = 1 cm 
2

1
  ⋅   cm 

2

1
  = cm 

2

3
  cm 

2

3
⋅    = 2cm 

4

9
 

 

 

S. 18/7a )  
3

1
2    

3

7
=    ;   

6

5
1    

6

11
=    ;     

10

3
2    

10

23
=    ;   

5

4
1    

5

9
=     ;    

4

3
1    

4

7
=   ;        

         
2

1
2    

2

5
=    ;   

9

4
1    

9

13
=    ;    

50

7
2    

50

107
=   ;   

30

1
2    

30

61
=  ;  

7

1
2    

7

15
=  

 

 

3 cm 

cm 
2

1

2,5 cm 



S.40/2)     :   
4

3
 echter Bruch   ;    

11

1
  : Stammbruch     ;   :   

5

2
 echter Bruch   ;    

     :   
5

15
 Scheinbruch ;     :   

7

21
 Scheinbruch     ;   :   

9

46
 unechter Bruch   ;   

    :   
10

13
 unechter Bruch   ;     :   

4

1
 Stammbruch  ; 

                        Jeder Stammbruch ist auch ein echter Bruch;  

   jeder Scheinbruch ist ein unechter Bruch  
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